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8.EE Rimi and Jordan

Task

Kimi and Jordan are each working during the summer to earn money in addition to
their weekly allowance, and they are saving all their money. Kimi earns $9 an hour at
her job, and her allowance is $8 per week. Jordan earns $7.50 an hour, and his
allowance is $16 per week.

a. Complete the two tables shown below.

Number of hours worked in a week, / 0111213415617

Kimi's weekly total savings, K

Number of hours worked in a week, i Q1112131451617

Jordan's weekly total savings, J

b. Write an equation that can be used to calculate the total of Kimi's allowance and job
earnings at the end of one week given the number of hours she works.

c. Write an equation that can be used to calculate the total of Jordan's allowance and
job earnings at the end of one week given the number of hours worked.

d. Sketch the graphs of your two equations on one pair of axes.

e. Jordan wonders who will save more money in a week if they both work the same
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number of hours. Write an answer for him.

IM Commentary

The purpose of the table in (a) is to help students complete (b) by noticing regularity in
the repeated reasoning required to complete the table (Standard for Mathematical
Practice 8).

Solutions

Solution: 1

d.
Number of hours worked in a week, A 0 1 2 3 4 5 6 7
Kimi's weekly total earnings, K 8 17 26 35 44 53 62 71
Number of hours worked in a week, A 0 1 2 3 4 5 6 7
Jordan's weekly total earnings, J 16 235 31 385 46 535 61 685

b. Kimi's total savings, K, is the sum of her $8 dollar allowance and ($9 per hour X the
number of hours she works, h). In other words, K = 8 + 9.

c. Similarly, Jordan's total savings, J, is given by J = 16 + 7.5h.
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Weekly income (dollars)

Hours Worked (in a week)

-4/-2;' 0 2 4 6 8 10 12 14

d. The two graphs are shown above.

e. We can see from the graph that if Kimi and Jordan only work a few hours per week,
Jordan will save more money. But at some point between 4 and 6 hours of work per
week, Kimi's savings overtake Jordan's savings and from that point on, she will save
more money. We can find out for what number of hours of work Kimi and Jordan will
make the same amount of money. We do this by setting the expressions for Kimi's total
and Jordan's total equal to each other, 9h + 8 = 7.5h + 16, and solving for A. This
yields h = 5%. This tells us that if they both work the same number of hours per week,

Jordan will make more money than Kimi if they work less than 5% hours. If, however,
they work more than 5% hours, then Kimi will make more money.
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Solution: Alternate (e) solution

e. Kimi's allowance is $8 less than Jordan's, but her hourly rate is $1.50 higher. So for
only a few hours worked, she will earn less per week than Jordan, but if she works a lot
of hours, her higher hourly rate will make up for the lower allowance. We can find the
number of hours at which this change occurs by calculating how many hours, at $1.50

more per hour, it will take to make $8:

$8 = 5l hours,
$1.50 3
hour

or 5 hours and 20 minutes.
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